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{s ffi-qr{ fr go 17 qaq dt mff ,sq srFmrd dl

ss.T ssr r ogffia tt w+€sT z t o rro FrFan sflfrq wq dt s${ sqr
z t t t a-o s+fr mg rdfu qsq d, q-d-6 6r sK mrrtr,r zo srd) fr frfusl !s{
dwT tz t t 4 ffi q rrtrc qrq d, lrd6 sri 6I sfl{ drlxflI zoc qrei fr
ftftwt sqq sqr 1s t 17 drr Ad rflft-q qqq d, frTol rflq dlltm 300 srd}
q ftnfuut

(iii) erft esqt& fu FrcrfRd 3i6 r{b Hqtq siftr dl
Note : (i) There are in all t7 questions in this question paper, All questions are

compulsory.

(ii) Question No. 1 is multiple choice type. Question No, 2 to 6 are definite
answer type questions. Question No. 7 to 11 are very short answer
type which are to be answered in about 20 words each. Question No.

12 to L4 are short answer type which are to be answered in about 200

words each. Question No. 15 to 17 are long answer type which are to
be answered in about 300 words each.

(iii) Marks allotted to all questions are mentioned against them.

rgffiauw
(Multiple Choice Type Questions)

1" {fl qqq & n*6 ws b rf,{ fi ur{ fu6e frS rr$ dt s& frfrr 3rq+ ro< gk-cm fr
frffi-
(m) qrilT gs ti qrd Hr+ ard arq d 1

(i) r<i rri rr€m (ii) fra uE rr€16

(iii) dlar w +rFfl6 (iv) dtdT tti ffin
I 1 I [P.r.o.
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(s) fos E-{rf, C nrqrera: 3r€ft W-d d ETfi t- 1

(i) t( (ii) rt={T

(iii) ftm-r (tv) dItsq't

(n) FrrryftRro t t qfu d mtro t- 1

(i) 6qls (ii) rrfi
(iii) er{{f, (iv) qTsT

1(q) ffi{ C tn E?i f&{ # rrnr +fi *-
(i) zo qfuriT tm +o yffla dr&{ (ii) +o sfora tm zo qfrvm mA={

(iii) zo qfur-f, to zo qfffid fr&q (iv) +o sfrvr-c tm +o qfrqd t'rfr{
(s) gdr ti $qT b rm 3ilrErc=T t ffiT t- 1

(i) qk6 3{-m (ii) srdfrqqordfu
(iii) sq$5,s (iv) Hf,D{

Four options are given in each part of this question. Write the cori'ect answer in
your answer book-

(a) Elements found in Pyrites are-

(i) Zinc and Sulphur (ii) Iron and Sulphur

(iii) Iron and Manganese (iv) Copper and Manganese

(b) Blind hoeing is generally done in which crop-

(i) Wheat (ii) Sugarcane

(iii) Maize (iv) Cowpea

(c) In the following, Kharif crop is -

(i) Cotton (ii) Pea

(iii) Watermelon (iv) Onion

(d) Oil and Protein content in Soyabean is-

(i) 20o/o Oil40olo Protein (ii) 40o/o Oil 20olo Protein

(iii) 2Ao/a Orl 20olo Protein (iv) 40o/o Oil 4oo/o Protein

(e) Urea Hydrolysis in the soii produces-

(i) Uric Acid (ii) Ammonium Carbonate

(iii) Amides (iv) Sulphur
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ftA-trdr*ftqsq=T
(Definite Answer Type Questions)foeredffi*tqntd{rftrdartl 1

Deficiency of which element causes Khaira disease in Paddy?
rrm ffi b fru 3l?11116 Hffiq b fff, d rrnr ftftrdt 1

Write the ouantitv of Sovabean seed reouired for One Hectare.
drt b ftild srTEqq# ffih e-6q6 Tdib qrq ftTfrrd dr ror HqT qrfi aRT Frnt fri

1

Write names of any two macrb elements essential for plants, which are
obtained from air & water.

=& #E qldTsT tt rro ffi yfrqrd drar ta 1

What is the percentage of K,O in Muriate of Potash?
ffi d q-erwr rrt€ft srrd'i tF nq ftRrdt 1

Write names of anv two Erosion Permittinq crops.
erfragsf,+qsva

. A (Vgry Short Answer Type Questions)

Differentiate between Environment and Ecosystem.

{ei qRdkor ffir t? em dBst 2

What is Soil Profile? Explain.
qQflmwT aur @5qq d sr.nn'erw otffii

5

6

7

I

9

10
Differentiate between Nitrification and Denitrification.
sF{ Eur{ # d frRrq\ 6r kd{pT frffit
State two nnethods of usar reclamation

2

2

211 S.fra qr-$ wrer di w t(ol srrn fr fi-{ M oq 6rft urtrda
When the wheat crop should be irriga^ted thrice if limited water is available?

agsifurvr
12, 6s*r d sor=nn ".,-J3H'ffiffilfHe8

uestions)
I

Write short note on Quality Parameters of Cotton.
13. qffidi6\ 3nRf6 3{relx q{ dJtrtrd otfrst

Classify Crops economicaliy.
14. ffifuH fr t m-<t a) q< Sftilw ftFqlt frftq-A-

(6) at q*-a d s-sdib mn+

1le) 11frur o-r quflq fuilolq
(q) r&61b rC{ of efiq{ frftr
(E) 5ar fioiWT b 6rd
Write short note on any two of the following-
(a) Utilities of Green manuring crops
(b) Foliar application of urea
(c) Placement method of application of fertilizers
(d) Functions of Soil Bacteria

4

4

2+2=4
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t7.

Differentiate between organic and inorganic manures. Write the effects of organic

matters on soil.

3r?rErloR

Tfuis1&s Fq t q.frT E{i et frfITq ERruimI fuqd edq dfrtl
Describe different methods of application of fertilizers in solid form in detail.

Fd e 6drcr t elrq 6qr Hrfl'A dl qr<e fr ft6 & ozrq b frfim onrr uti Ts-S dri aT-fr

Hfutfr frrqn qrsr frB.At 6

What do you understand by soil erosion? Describe in detail the different causes

of soil erosion and its disadvantages in India. 
,

*****
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frrqas+ftqss{
(Long Answer TyPe Questions)

1s. emr f,err ili d dffi or Sd-{t-ffi * *** efl{qite srfrdd 6Bu- 2x3=6

(m) * riqn ffifrrd
(iq) gET{ ml vlrq dPn ftfl al rrnr qfr tfu
(rr) sr( w rd{6 d qfr ffiw 3TH{dt?brT dql JqrT sfr fu&1
Give a comparative description of the cultivation of Paddy and Gram under the

following heads :

(a) Two recommended varieties

(b) Sowing time and seed rate per hectare

(c) Requirement of manure and fertilizer per hectare and yield per hectare.

3rerdr/oR

ffir nprT qCE6 bt dffi 6T gm-{rro qufq ftrfrfrq-d qtffi b 3Fdrrd otBu-
(dt) dssg-dmTfrd
(s) gor$ o-t Hrrq HPn fifr of qET qfr ico'-{
(rr) ot-d Ed tm fr'{quT
Give a comparative description of the cultivation of Groundnut and Sunflovrer

under the following heads :

(a) Two recornmended varieties

(b) Sowing time and seed rate per hectare

(c) Control of insect-pest and diseases

16. 6rdfr-6 uE 3ffiTdFr6 ETdtd 3{<R s€ dfrdt Edr q{ ordkd q-{rPfr b mE 6T rdq
m1ffit 6


